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754,325 714,325 40,000
X9 Heg 530,000 490,000 40,000
HOAE &5 530,000 490,000 40,000
Dl otALSA 330,000 290,000 40,000
401 Al HI L E0HHI 330,000 290,000 40,000
01 Al& H| 326,598 287,030 39,568
OA=0tS = U SR2E X DA
39,568,000& 39,568 0 39,568
03 Al 201 Y| 3,402 2,970 432
OA=0tS i U SR2E I DA
40,000,000 *1.08/100 432 0 432
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SN 28
MM ARD XS
CHelL FUEOANY 25 (B2l &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
2aH 654,340 634,340 20,000
ARD XSy 490,000 470,000 20,000
ZOIEHOIAL &5 490,000 470,000 20,000
ZOIH ALY 290,000 270,000 20,000
401 AlEHIZ =20 270,000 250,000 20,000
01 Al&H| 267,192 247,408 19,784
o= 22| 52 SFEFH  19,784,0002 19,784 0 19,784
03 Al& 2 HH 2,808 2,592 216
g=17 228 =2 SHEEYI
20,000,000 *1.08/100 216 0 216
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2N 28
Ha: AR NN
SRl FOBOANL BB (2@ d)
£ - HA(ZAH) - NRAMY - BES Off &t 24 INEH Husz
28 648,603 628,603 20,000
ARSI 490,000 470,000 20,000
FOBHIANL &5 490,000 470,000 20,000
Zolg ALY 290,000 270,000 20,000
401 AIEHI L 2 THHI 290,000 270,000 20,000
01 Al Hl 286,868 267,084 19,784
OZ20t8 MYZ L W42 Il
19,784,002 19,784 0 19,784
03 Al = CH bl 3.132 2,916 216
S202 YR L WA F|
20,000,0002 *1.08/100 216 0 216
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A JHoFH
M AR XNIEHY
S FUHEAAE &5 (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
JHOFH 680,445 660,445 20,000
22 KGRy 470,000 450,000 20,000
FRHEOANLE &= 470,000 450,000 20,000
TSI YA 270,000 250,000 20,000
401 AIEHI L 20 242,000 222,000 20,000
01 A& HI 239,732 219,948 19,784
Oxlel2s MAZ LEH I A} 19,784,000& 19,784 0 19,784
03 AlE SR THHI 2,268 2,052 216
OXigl2s M2 ZHIA
20,000, 000% *1.08/100 216 0 216
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2AX: 0t2H

HH: YNBYIN 2Y

ool QHHMHEN 29 (B2l &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2

or2 ¢ 663,878 642,438 21,440
UM KR 29 154,252 152,812 1,440
UMM IR 2H 154,252 152,812 1,440
SelotE »2 2 =4 XY 82,410 80,970 1,440
301 Yt A2 82,410 80,970 1,440
0552 -EssEA3 82,410 80,970 1,440
OO0l & 80,160 78,720 1,440

—-Jlg+g
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(20,0009 x24 % %25] * 122 )+(20, 0002 *2 % »2 11,760 11,520 240
3%38)

ARD XSy 490,000 470,000 20,000
ZOIHOAML &5 490,000 470,000 20,000
FOIHYALY 290,000 270,000 20,000
401 Al HI 2L 200 290,000 270,000 20,000
01 A& H| 287,516 267,516 20,000
OFM ZTUE =2 FH 10,000,000 10,000 0 10,000
OFM3F =24l 10,000,000 10,000 0 10,000
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g3 678,205 637,505 40,720
ALSYBEN 2 168.599 167,879 720
ALHHEN 2 168.599 167,879 720
sclgtd =g & 234l X& 89,200 88,480 720
301 Y a3 89,200 83,480 720
05E-2 - eSS 89,200 83,480 720
OLES 86,000 85,280 720
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)
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ATRD KShg 490,000 450,000 40,000
FLHEJAE =HF 490,000 450,000 40,000
FolgYAY 290,000 250,000 40,000
401 Al 2 = CH | 290,000 250,000 40,000
01 A&t 286,868 247,300 39,568
O82? 22 FHAY 19,784,0008! 19,784 0 19,784
O=FIP(01L0IB) sYB4H
19,784,0008! 19,784 0 19,784
03 A& S THHI 3,132 2,700 432
OB2T 22 FHIAY
20,000,000 *1.08/100 216 0 216
O=FIP(01LH0IB) sYB4H
20,000,000 *1.08/100 216 0 216
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= H ¢ 648,765 628,765 20,000
ARD XSy 490,000 470,000 20,000
ZOIEHOIAL &5 490,000 470,000 20,000
ZOIH ALY 290,000 270,000 20,000
401 AlEHIZ =20 250,000 170,000 80,000
01 Al&H| 247,516 168, 164 79,352
OZBE2 THEE(AIHY ©HA) 39,568,000 39,568 0 39,568
Olls 0t Z22Y FHI(AIgY #HAH)
15,000,000 15,000 0 15,000
OnE 224 FHH(AFYE BZ) 5,000,000 5,000 0 5,000
OMMAE X7 HHIAY 19,784,000 19,784 0 19,784
03 Al& 2 H 2,484 1,836 648
OB MEF(AMYY HAH)
40,000, 0002 *1.08/100 432 0 432
OMoHAE XN HUIALY
20,000,000 *1.08/100 216 0 216
402 DIZFKH=0| & 40,000 100,000 A60,000
01 2R EEx 40,000 100,000 260,000
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od 0 40,000 240,000
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SA - () - NRANY - BES 0 &k 7= HDz2

Ao 619,450 599,450 20,000

28 XFEHeg 470,000 450,000 20,000

FUEYAE &F 470,000 450,000 20,000

TSI YA 270,000 250,000 20,000

401 AIEHIZ 2 CHYI 270,000 250,000 20,000

01 A& HI 267,192 247,408 19,784

OUHE s2 ZHIAM 19,784,000& 19,784 0 19,784

03 Al 2 THHI 2,808 2,592 216

OUWE =2 ZHEZ A 20,000,000 *1.08/100 216 0 216
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2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
H=0 616,372 596,372 20,000
ARD XSy 490,000 470,000 20,000
ZOIEHOIAL &5 490,000 470,000 20,000
ZOIH ALY 290,000 270,000 20,000
401 AlEHIZ =20 290,000 270,000 20,000
01 Al&H| 287,084 267,084 20,000
Ogtl AE Y 0le X2 A 10,000,000 10,000 0 10,000
OAH i3 HHZA 10,000,000 10,000 0 10,000
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39d 666,825 646,825 20,000

28 XFEHeg 490,000 470,000 20,000

FUEYAE &F 490,000 470,000 20,000

TSI YA 290,000 270,000 20,000

401 AIEHIZ 2 CHYI 269,000 249,000 20,000

01 A& HI 266,300 246,516 19,784

Osd =2 EH 19,784,000& 19,784 0 19,784

03 Al 2 THHI 2,700 2,484 216

Osd =2 FH 20,000,000% *1.08/100 216 0 216
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Hzo 631,373 611,373 20,000
ATRD XS 490,000 470,000 20,000
FoBONY =B 490,000 470,000 20,000
YA 290,000 270,000 20,000
401 Al41 bl 2 = CH | 260,000 240,000 20,000
01 Al Hi 257,408 237,624 19,784
ODIEH S22 FHI(MYY #Y) 02! 0 29,676 £29,676
Owolsla =8 Bl (MY ©Y)
29,676,000%! 29,676 0 29,676
OAMX 8 =LA 19,784,000 19,784 0 19,784
03 Al& = CH ] 2,502 2,376 216
OOIEH S22 FHI(MYY #Y) 02! 0 324 A324
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30,000,000%! *1.08/100 324 0 324
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20,000,002 *1.08/100 216 0 216
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0§ 2o 614,478 593,410 21,068
UM KR 29 124,852 123,784 1,068
UMM IR 2H 124,852 123,784 1,068
SHHN 29 70,472 69,404 1,068
202 04| 31,308 30, 240 1,068
02 2 M| 31,308 30,240 1,068
O 2 %01 H 31,308,000 31,308 30,240 1,068
ARD XYY 470,000 450,000 20,000
ZOIEHOIAIL &5 470,000 450,000 20,000
ZOIH ALY 270,000 250,000 20,000
401 AlIEHIZ =20 270,000 250,000 20,000
01 Al&HI 267,192 247,408 19,784
OF 2E33&54 =2 ZH|IZ2A
19,784,000 19,784 0 19,784
03 Al& 2 HH 2,808 2,592 216
OF 2E33&4 B2 AH|IZ2A
20,000,000 *1.08/100 216 0 216
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ALLE] 671,832 651,832 20,000
ARD XSy 490,000 470,000 20,000
ZOIEHOIAL &5 490,000 470,000 20,000
ZOIH ALY 290,000 270,000 20,000
401 AlEHIZ =20 290,000 270,000 20,000
01 Al&H| 286,868 267,084 19,784
OsAI|BHAIE HHIALY 19,784,000 19,784 0 19,784
03 Al& 2 HH 3,132 2,916 216
O=sgI|BAIE HUIALY
20,000,000 *1.08/100 216 0 216
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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
A OHH 719,982 679,982 40,000
22 KGRy 490,000 450,000 40,000
FRHEOANLE &= 490,000 450,000 40,000
TSI YA 290,000 250,000 40,000
401 AIEHI L 20 290,000 250,000 40,000
01 A& HI 286,976 247,408 39,568
OtE s2 BZ3A 19,784,000& 19,784 0 19,784
OeE s g4 19,784,000 19,784 0 19,784
03 Al S THHI 3,024 2,592 432
OdHE s2 223 A 20,000,000& *1.08/100 216 0 216
OeE s g4 20,000, 000% *1.08/100 216 0 216
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sl ™ 638,927 618,207 20,720
UM KR 29 149,301 148,581 720
UMM IR 2H 149,301 148,581 720
SelotE »2 2 =4 XY 78,810 78,090 720
301 Yt A2 78,810 78,090 720
0552 -EssEA3 78,810 78,090 720
OO0l & 76,160 75,440 720
—-Jlg+g
(200,000 23 « 122 )+(200, 000! * 1 H «3 & 55,800 55,200 600
)
—sloasry
(20,0009 x23% *25] * 122 )+(20, 0002 * 12 »2 11,160 11,040 120
3%38)
ARD XSy 470,000 450,000 20,000
ZOIHOAML &5 470,000 450,000 20,000
FOIHYALY 270,000 250,000 20,000
401 Al HI 2L 200 270,000 250,000 20,000
01 A& H| 267,084 247,300 19,784
OAMSE HHHFS ASHA HHIZAF 19,784,000 19,784 0 19,784
03 Al& 2 HH 2,916 2,700 216
OdtSs HHHIR AotE HH| 2 A
20,000,000 *1.08/100 216 0 216
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ARD XSy 470,000 450,000 20,000
ZOIEHOIAL &5 470,000 450,000 20,000
ZOIH ALY 270,000 250,000 20,000
401 AlEHIZ =20 270,000 250,000 20,000
01 Al&H| 267,084 247,300 19,784
O4&el® 50 HHIZ A 19,784,000 19,784 0 19,784
03 Al& 2 HH 2,916 2,700 216
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20,000,000 *1.08/100 216 0 216
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g0 649,370 629,370 20,000
22 KGRy 470,000 450,000 20,000
FRHEOANLE &= 470,000 450,000 20,000
TSI YA 270,000 250,000 20,000
401 AIEHI L 20 270,000 250,000 20,000
01 A& HI 267,570 247,786 19,784
OZd 52 ZHIA 19,784,000& 19,784 0 19,784
03 AlE SR THHI 2,430 2,214 216
OZd sz ZEIZ A 20,000,000 x1.08/100 216 0 216




